o(d x) (um) for PV
[~
(=]

' FEEWE SRR | T FEETE N

10 15 20
Vertex z (cm)

o0 X) (um)

Ratio

10?

10

10 15 20

o(d x) for merged vertices (um)

10°

10?

=
o

RSP 8 11 H .............
B0 -15-10 5 0 5 10 15 20

Vertex z (cm)

—=— DQM_TT_time_newbranch
—— DQM_TT_newbranch_time_plLess

a(dy) (um) for PV
=
o

.

O

10 15 20
Vertex z (cm)

a(d z) (um) for PV

10

1_ LT
F - -

L .+

PP NS WIS 1 M NI ArE e P

1
Vertex z (cm)

a(0y) (um)

Ratio

0(0 2) (um)

10°

10°E

10

Vertex z (cm)

10%E

10k

Vertex z (cm)

o(d y) for merged vertices (um)

o(d z) for merged vertices (um)

Ratio

=
o
w

10?

=
o

=
o

Vertex z (cm)

L.UD]

5 10 15 20
Vertex z (cm)



	Contents
	Page 1


